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 1   reagent  TNC TS  RS

Nelson’s reducing sugar  procedure (A.O.A.C., 1990)

Nelson’s reagent A 

anhydrous sodium carbonate (Na2CO3) 25  sodium potassium tartrate  

25   sodium bicarbonate (NaHCO3) 25 anhydrous sodium Sulfate (Na2SO4)

200  1 

Nelson’s reagent B 

copper Sulfate (CuSO4.5H2O) 15  100 
 2 

Nelson’s alkaline copper reagent

  Nelson’s reagent A  20 Nelson’s reagent B 0.8 

arsenomolybolic acid reagent 

 ammoniummolybdate ((NH4)6Mo7O24.4H2O) 25  450 
 21 sodium dehydrogenarsenate 

(Na2HAsO4.7H2O) 3  25 
 2 

 ( D-glucose)  0  0.02  0.06  0.08  0.10  0.12  0.14  0.16
0.18  0.20 / glucose ( y)
absorbance ( x) /
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 2
 Smith et al. (1964)

 1 
 10   60 

 72 
 60  2  0.2  erlenmeyer flask 

 250 H2SO4 0.2 N 40  100 
 60 pH NaOH  100 

Whatman  1  100 

 3
Nelson’s

reducing sugar procedure (A.O.A.C., 1990)  1 
 (dilute)  9  1 

 (blank ) Nelson’s alkaline copper reagent  1 
 20 

arsenomolybolic acid reagent  1 
 7 absorbance (A) spectrophotometer

540 nm  absorbance standard curve D-glucose

(  6) 

 4
  Dubois et al. 

(1956)

 1  0.1 N HCl 0.5 water bath 

 100  15  0.1 NaOH

0.5  1 
Nelson’s reducing sugar procedure (A.O.A.C., 1990)  Nelson’s alkaline copper reagent 

 1  20 
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 arsenomolybolic acid reagent  1 
 7 absorbance (A) 

spectrophotometer  540 nm absorbance standard curve 

D-glucose (  6)

 5
Yemm

(1935)  0.2 erlenmeyer flask  250 
ethanol 85  20  60 

 2 flask

 50 Whatman

 1  100 
Nelson’s reducing sugar procedure (A.O.A.C., 1990)  1 

 (dilute)  9  1 
 (blank ) Nelson’s alkaline copper reagent  1 

 20 
arsenomolybolic acid reagent  1 

 7 absorbance (A) spectrophotometer

540 nm  absorbance standard curve D-glucose

(  6)
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6  TNC TS  RS

           TNC, TS, RS  =
  mg glucose equivalent  x  volume make

 x  volume take 

y = 0.7609x + 0.0016
R2 = 0.9997

0.0

0.1

0.2

0.3

0.4

0 0.1 0.2 0.3 0.4 0.5 0.6
ppm

AB
S

 1   540
TNC TS RS
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 1  2549

/
AA 10
A 5
B 3.5
C 1.25

: , 2549 

 2

1/

 17.91 

 31.82 

 40.62 

 24.83 
                              1/
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 3

 ( ) 1/ 2/

AA A B C /

 2,274 310 280 209 5,069 

 1,526 193 153 80 3,133 

 10,820 1,082 722 470 19,344 

 5,320 665 509 288 10,788 
1/ AA = 10 /  A = 5 / B = 3.5 / C = 1.25 /
2/ =  x 

 4

 ( ) 1/ 2/

AA A B C /

 KClO3 250 414 336 228 6,031
25 / * 1,014 910 842 382 18,114
50 / * 1,470 1,134 780 500 23,725
75 / * 1,258 1,138 838 500 21,828
100 / * 1,082 1,082 722 470 19,344
500 / ** 950 850 642 422 16,524
1000 / ** 1,388 1,110 858 506 23,065
1/ AA = 10 /  A = 5 / B = 3.5 / C = 1.25 /
2/ =  x 

*
**
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 5 
         . . .  2548 

 (º )  (%)
( )

32.3 13.1 21.3  88.1 54.0 71.1 0.0 

 36.5 14.3 23.8  83.6 38.1 60.8 0.0 

 37.3 18.4 26.5  83.9 47.1 65.5 11.0 

 38.2 21.5 28.6  75.0 62.1 68.6 5.0 

 35.1 18.9 25.8  88.1 54.0 71.1 114.0 

 33.8 24.2 28.3  88.5 73.0 80.8 86.5 

 34.0 23.9 28.2  86.4 57.1 71.7 97.5 

 32.8 23.4 27.4  85.8 67.3 76.6 81.5 

 32.7 22.3 26.8  91.2 75.7 83.4 260.0 

 32.6 21.3 26.1  91.7 75.7 83.7 82.5 

 31.3 19.7 24.7  92.3 77.3 84.8 21.5 

 27.7 15.8 20.9  92.8 36.3 64.6 19.5 

: , 2548
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 6
         . . .  2549 

 (º )  (%)
( )

31.1 12.3 20.3  93.9 15.1 54.5 0.0 

 34.6 15.0 23.4  91.4 50.0 70.7 0.0 

 38.4 19.2 27.4  86.8 67.0 76.9 0.0 

 38.2 22.5 29.2  90.2 79.1 84.7 140.0 

 33.3 22.6 27.2  91.8 80.5 86.1 239.0 

 34.6 23.5 28.2  87.8 64.8 76.3 123.0 

 33.2 22.9 27.3  92.7 82.6 87.6 103.0 

 32.3 22.2 26.5  90.7 83.2 87.0 250.0 

 32.7 22.1 26.6  91.9 76.3 84.1 287.5 

 32.6 21.2 26.1  92.6 76.0 84.3 131.5 

 31.7 16.8 23.2  95.1 63.5 79.3 0.0 

 30.5 13.4 20.7  92.9 60.7 76.8 0.0 

: , 2549
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A B 

C D 

 2
A

 B   
 C   

 D   
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 3 

 4 

 5 
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  27    2524

2539

2542

  ( )
2547

 16/1   2   57110
   053-771204 


